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An element in plane stress is subjected to stresses o,.0
as shown in the boxes.
Find the principal stresses and the absolute maximum shear stress.
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When 45° strain rosette gage measures the normal strains
€gp = 2M€ €4 1m0 =4AJ1E, €,_ o0 =4pe respectively.
(Let V2 =14,v/3 =17.)
2.

(4d) | Obtain e,.¢,,7,,, and the principal strains epe;
and the absolute maximum shear strain ..

e, = ( e, €, =4pe, 7, = ( )1,
e, =4dpe, ey= ( e Yay = ( e.
g2 O2g8L, g FolA 35 F=10 Ibf o] FA&3= AL Yehfa

o

FA9 EAY B2, 4ol L=109A], T w=5A, FA t=1914 ot}

K Sl dol= 0.02914], A€ F2 0.005¢1

rERF UEE €, —€;,, YFIF WHE €, =€, , T4F 4 (Poisson's ratio) V,
=

&9 $2-¢H(normal stress) 0, = 0;, B4 A F(elastic modulus) E,
AR A G (shear modulus) G , AHHH E(volumetric strain) €, & T3HA L.
3. )
(63) % =8, F
M s 5 1B,
E=1
L =10

Answer:
€ =€ —(___ ) . =€ =(________ ), Vv=(__),
O, =0p=( ___)psi,E=(___ )ksi ,G=(___ )ksi , € =0




